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; 100kN/mZ#8% % - -~ -|3mEEZS - - -| 100kN/ Mm% 2% - -~ -|3mEHERS -~ -
FhnLis 100|000 ~ 765 98.05 | #nLst | 0.00 7.65 | 1.93 10.34 FhLs 100|500 ~ 1212 98.05 | #nLSY | 5.00 ~ 1212 1.93 10.34
2 100kN/mZ#8% % ~ -|3mEEZS -| 100kN/ Mm% %% ~ -|3mEHERS ~
Zhst 1.00) 000 ~ 763 97.79 | =nLlst | 0.00 763 1.98 10.61 Zhst 100|500 ~ 1123 97.79 | #hist | 500 ~ 1123 1.98 10.61
3 100kN/mZ#8% % ~ -|3mEEZS -| 100kN/ Mm% 2% ~ -|3mEHERS ~
Zhst 1.00 )| 0.00 ~ 764 97.88 | #nhist | 000 764 1.95 10.44 Zhst 100|500 ~ 1172 97.88 | #nhist | 500 ~ 11.72| 1.95 10.44
4 100kN/mZ#8% % ~ -|3mEEZS -| 100kN/ Mm% 2% ~ -|3mEHERS ~
FhLs 100|000 ~ 762 97.58 | #nLst | 0.00 0.00| 1.69 9.04 Fhns 100|500 ~ 1032 97.58 | #nLSY | 5,00 ~ 1032 1.69 9.04
5 100kN/m#%#BZ5| 1.00 | 000 ~ 1.10| 11658 |3Im&ERBZS -| 100kN/m# 25 | 1.00 | 1096 ~ 1435 | 116.58 |3m&EEZD ~
Zhst 100|110 ~ 889 100.00| Fnilst | 0.00 889 | 1.90 10.15 Zhst 100|500 ~ 109 | 100.00| Thst | 5.00 ~ 1435 1.90 10.15
6 100kN/mM#%#BZ5| 1.00 | 000 ~ 138 12102 |3mEHBZ% -| 100kN/M# 25 | 1.00 | 1054 ~ 1500| 121.02 |3mEBEZD ~
Fhs 100|138 ~ 9.17| 100.00 | #nLlst | 0.00 9.17 | 1.79 9.61 Fhns 100|500 ~ 1054 100.00 | #nst |5.00 ~ 1500| 1.79 9.61
- 100kN/mZ#8% % ~ -|3mEEZS -| 100kN/ Mm% %% ~ -|3mEHERS ~
Zhst 1.00 ) 0.00 ~ 658 83.02 | Enilst | 0.00 0.00| 1.62 8.68 Zhist 100|500 ~ 830 83.02 | #nhist | 500 ~ 830 1.62 8.68
g 100kN/mM#%#BZ5| 1.00 | 000 ~ 060| 10885 |3mERBZS -| 100kN/m# 2% | 1.00 | 11.537 ~ 1351 108.85 |3mZEiBZS ~
Zhst 1.00 | 060 ~ 838 100.00| Tnilst | 0.00 838|201 10.76 Zhst 100|500 ~ 1137 100.00| Thst | 500 ~ 1351|201 10.76
9 100kN/mZ#8% % ~ -|3mEEZS -| 100kN/ Mm% 2% ~ -|3mEHERS ~
Zhst 1.00 | 000 ~ 452 56.40 | Fnst | 0.00 000|157 8.38 Zhist 1.00 500 ~ 5.00 56.40 | #nLlst | 500 ~ 500|157 8.38
100kN/mZ#82 % ~ ImEBZD 100kN/mMZ#8 % % ~ ImEBAD ~
Zhst ~ Zhllst Zhst ~ Zhllst ~
100kN/m%#82 % ~ ImEBZD 100kN/mMZ#8% % ~ ImEBAD ~
Zhst ~ Zhllst Zhst ~ Zhllst ~
100kN/m%#8% % ~ ImEBZD 100kN/mMZ#8% % ~ ImEBRD ~
Zhst ~ Zhllst Zhst ~ Zhllst ~
100kN/mZ#8% % ~ ImEBZD 100kN/MZ#8 % % ~ ImEBRD ~
Zhst ~ Zhllst Zhst ~ Zhllst ~
100kN/mZ#8% % ~ ImEBZD 100kN/mMZ#8% % ~ ImEBRD ~
Zhst ~ Zhllst Zhst ~ Zhllst ~
100kN/mZ#8% % ~ ImEEZD 100kN/mMZ#8% % ~ ImEBRD ~
Zh s ~ Zhn st Zh s ~ Zhn st ~
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